e 2™-ONA 2x 9] 2717

@D 30° @ 35° 3) 40° @ 45° B 50°



stofzh. (

_;L

TN x 9] e

O
)

ot

2.

cm



S IHoA PT & §H 0 9] FHA4lo]
}.
ﬁzélcmolﬂm:m?—iﬂ,ﬁ
o] 4ol=avb oltt. a+b & F5tofzt.
(%, b H40] 2%

e
=¥

Q



4. & IYAAAAD, E F 90 9§44 u, aABC 9 S|
Zolg Fatofet,




o2 I8 90 & «C=90°
ol A ZHarz+e ABC 9] W Yol

, 4 D,EF = #H™o|t}. BE =
5cm, EC = 3cm ¥ o], AB 9] 4
ol&=?

R

@ 10cm @ 12cm
@ 15cm ® 17cm




o2 13 o] «C = 90° ¢l mbABCD 7}
¥ 0 o st ok A E,F,G,H+= 3
Holi1 AH=3, AB=6.BC=7 DG =6
d off, DABCD 9] H°]& #5tofzt.




o [l g A A
s
o2 el A 5.0ptAB = 5.

JAEB=[ |




ot oA AD//CF ©]1 /ADB =
20°, /BFC =22° 94 o, /x4 ¢y & A7) D

19

@D 65° @ 73° ® 80° @ 84° ® 90°



42 204 5.0ptAC = 4cm |, 5.0ptBD = 5cm , /DCB = 25° 2
o], /APC 9] 27]=?

@D 35° @ 45° B 55° @ 65° B 75°



10. o2 199 ¥ O oA AMAgt F79
yol=? (&, AB =CD)
@ 35cm? @ 40cm? ® 52cm?

@ 60cm? 3 T72cm?



11.

o A 9 0 = 2ABC 9 954

o], OM = ON, /M = /N = (H =
90°, /MON = 100° ¢ o, /B o] 27| &
T-oFH?

D 30° @ 40° A 50° @ 60°

B 70°



12. o3 I-A PALPBEY 0 9 A
Aoli, M A, BE 1 HHolgtr &
o, 24 42 AL BF I2H?

® PA=PB

@ AAPO = ABPO

® /APB + /AOB = 90°

@ /OPB = 20° ©] /AOB = 140° o]t}
® /APO + /AQOP = 95° o|t}.




13. & 2ol 4 oABCD £ AB =8, AD = 10 ¢l ZAZ o}, ¢
O 7} oAECD o & wf, AABE 9] Hol]& 517

N\




14. o-g IFeA BAC 9] 27|15 519 D
2}, (&, oABCD & 9o W) 2\




15. oABCD 7} ol i tehar gt} offf 1x & 27]=7

@D 99° @ 96° B 94° @ 93° B 90°



16. & JFHA AC = Y 0 &) A2o]11, /BAC = 60°, /DCE = 130°
A uff, /ABD ¢] 37]& F+5tHA?

@D 10° ® 15° ® 20° @ 925° ® 30°



17. the 234 ABCDE € 0 o WAste BT & 9 0 ¢ HAolt},
(CAB = 77°, /ADC = 95° & o, /x &] A7]& oot

L —C




18.

2 0 oA «CDB = 40°, /BAT = 60° °]1L
A AT 7F AL o, 2x+ 2y = ( )°
o|t}. o] o, ( ) QFof] ggke =29

@D 125 ® 130 3 135 @ 140

B 145



19. o8& oA EF & F 99 35do|th. AP =4cm, BP =8cm
CP = 10cm ¢ w, DP 9] Zo|& 3ot




20. o5 2¥IA AB-CD 9 #t2?

@D 5 @ 6 ® 7
@ 8 ® 9




21. the 2264 5.0ptAB = 5.0ptBC ©] 1
/BDE = 72° °o]t}. AC 9} BE 9] w3¥-&
P 2 & o, /CPE ] 7| & oot




22,

U= 1H¥ go] ¥ O 9 ¢
A P oA & A 10
Tt HE 271 A, B, C
7‘40011*17B°1]1H%T
F 2} gttt PA = 6cm , PC =
CD = 7cm , OF = V15cm

0 o Eeo] holg 7

@ 6rcm

@ 16wcm

o




23.

th& 19HolA PA-PB=PC-PD 7} 4 ¢
& i, /PCA ¢] 27]E7?

@D 60° @ 65° ® 70°

@ 75°




24, S 1A PT=TB=8cm, AB=12cm ¥ W], AT ¢] Zdo]=
F5jodet,



25.

ot 24 PT
PT 7} Al A A
4A, B TE
S AU ¢

s
t= x 9 Fh2?

\/_
2

@ 53

1o

® 62



